

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			CM 537-GLP - 8-PACK  17" Mesh Jumper		
1	7	CE8CP17		\$ 120.00	\$840.00
			Skipped Option 72" Long, Reversible Floor Power Entry		
2	1	CE8FR1	72 Long, Reversible Floor Fower Linky	\$ 347.00	\$347.00
			Skipped Option		
3	4	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
4	4	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
5	4	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
6	4	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	8	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$176.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
8	4	CMDAOH48	48"w x 14.12"d x 15"h, Center Mount Laminate Overhead, Top Mount on Panels, Support Brackets Included	\$ 1,273.00	\$5,092.00
			Skipped Option		
			Skipped Option Skipped Option		
			Окіррей Орион		
9	4	CMFM4224P2	42"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 519.00	\$2,076.00
			STD Standard Paint Colors Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
10	4	CMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$3,056.00
			STD Standard Paint Colors Skipped Option Skipped Option Skipped Option Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
11	16	CMHCL2	28"h x 1.5", Square Corner Leg w/ Leveler	\$ 127.00	\$2,032.00
			CTD Chandred Daint Finish on		
			STD Standard Paint Finishes Skipped Option		
			Skipped Option		
12	6	CMHLPBB01	1.5"h x 8"w x 1"d, Laminate Gallery Panel Bottom Connecting Bracket, Connectors 2 Laminate End Panels at Bottom w/Screws, Hardware Included	\$ 46.00	\$276.00
			CTD Standard Daint Finished		
			STD Standard Paint Finishes Skipped Option		
13	6	CMHLPCB01	1.5"h x 4"w x 4"d, Laminate Gallery Panel 90 Degree Corner Bracket, Hardware Included	\$ 44.00	\$264.00
			STD Standard Paint Finishes		
			Skipped Option		
14	2	CML2PL4225	42"h x 25"w, Left, 2 Way Return End of Run Gallery Panel, One Side Connects to a Laminate Connecting Panel or Extention Panel, Creates 'L' Configuration, Attaching Hardware Included		\$976.00
			Skipped Option		
			Skipped Option		
15	2	CML2PR4225	42"h x 25"w, Right, 2 Way Return End of Run Gallery Panel, One Side Connects to a Laminate Connecting Panel or Extention Panel, Creates 'L' Configuration, Attaching Hardware Included	\$ 488.00	\$976.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
16	1	CML3PL4249	42"h x 49"w, Left, 3 Way Return End of Run Gallery Panel, One Side Connects to a Laminate Extention Panel, Creates 'T' Configuration, Attaching Hardware Included	\$ 676.00	\$676.00
			Skipped Option Skipped Option		
17	1	CML3PR4249	42"h x 49"w, Right, 3 Way Return End of Run Gallery Panel, One Side Connects to a Laminate Extention Panel, Creates 'T' Configuration, Attaching Hardware Included	\$ 676.00	\$676.00
			Skipped Option Skipped Option		
18	2	CMLEP4263	42"h x 62.30"w, End of Run Double Sided Laminate Gallery Panel, Both Ends Connect to a Laminate Extention Panel, Creates 'T' Configuration, Attaching Hardware Included	\$ 946.00	\$1,892.00
			Skipped Option Skipped Option		
19	2	CMLMP4251NC	42"h x 50.30"w, Middle Laminate Gallery Panel Double Sided, w/Base Electrical Cutout, Attaches Inbetween 2 Panels to Create 'X' Configuration, Both Ends are Finished & Does not Connect, Attaching Hardware Included	\$ 918.00	\$1,836.00
			Skipped Option Skipped Option		
20	1	CMLMP4263	42"h x 62.30"w, Middle Double Sided Laminate Gallery Panel, w/Base Electrical Cutout, Attaches Inbetween 2 Panels to Create 'T' Configuration, Connects on 2 Sides to a Laminate Extention Panel, Attaching Hardware Included	\$ 1,049.0	0 \$1,049.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
21	3	CMLXPL4242	42"h x 42"w, Left, Laminate Straight Extention Gallery Panel \$ End, Connects to Double or Single Sided Connecting Panel on One End & Other Side Connects to 2 Way Laminate Extention Panel, Connecting Hardware Included		\$2,061.00
			Skipped Option		
			Skipped Option		
22	3	CMLXPR4242	42"h x 42"w, Right, Laminate Straight Extention Gallery Panel End, Connects to Double or Single Sided Connecting Panel or One End & Other Side Connects to 2 Way Laminate Extention Panel, Connecting Hardware Included	\$ 687.00	\$2,061.00
			Skipped Option		
			Skipped Option		
23	4	CMPSEG1224	12"h x 24"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 264.00	\$1,056.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
			Skipped Option		
24	23	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$391.00
			Skipped Option		
			Skipped Option		
25	8	CWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$2,064.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
				Skipped Option		
EFG						
26	8	EVL2PBF18MIT	18"d x 15	.5"w x 22"h, Laminate B/F Mobile, Pedestal, Inset To	<sup>p</sup> \$ 1,243.0	0 \$9,944.00
			~TF	Laminate Top Finish Options		
				Skipped Option		
			~LB	Laminate Base Finish Options		
				Skipped Option		
			~DR	Drawer/Door Laminate Options		
				Skipped Option		
			HFA	Flat Aluminum Handle		
				Skipped Option		
27	8	EVLPSTC1518		8"w x 1"h, Mobile Pedestal Cushion, For Use with Mobile Pedestals	\$ 304.00	\$2,432.00
			~GR01	Grade 01		
			•••	Skipped Option		
				Skipped Option		
28	8	EVWS2370		"w, Height Adjustable Rectangular Worksurface coops, (Height Adjustable Base Sold Separate), 3mn e Trim	s 394.00	\$3,152.00
			~TF 	Thermally Fused Laminates (1" Thickness) Skipped Option Skipped Option		
				Skipped Option		
GCU						



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
29	8	PH3T6601	Height Ad Readout, to Exceed ADJUSTA	ot 1,233.	00 \$10,040.00	
			~70	70"w Height Adjustable Base		
			~72	72"w Return Not Required		
				Skipped Option		
			ALIAS SI	JBTOTAL: \$ 55,969.00		

TOTAL EXTENDED LIST: \$55,969.00